Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING- C to D Bridge Course Examination WINTER 2018

Subject Code: C320003 Date: 09-01-2019
Subject Name: ADVANCED MATHEMATICS(GROUP-2)
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Each question is of 1 mark.
4. Use of only simple calculator is permitted. (Scientific/Higher Version not allowed).
5. English version is authentic.

No. | Question Text and Option. U&< st [Aseul,
Distance between two points (-3,0) and (3,0) is

1. |A |3 B. |6
C. |1 D. |9
o [6iz2l (-3,0) 2i (3,0) 42 ¥idz =

. |A. |3 B. |6
C. |1 D. |9
Two lines having slopes m1 and m; respectively are perpendicular if

2. A. | mmz=1 B. mimy = -1
C. [m=m D. | mi=my+1
6 ol LI 5 6¥<ll 2L0L pi5H m1 2 m2 dl

2 A. | mmz=1 B. mimy = -1
C. 'm=m D. |mi=my+1
The slope of the line passing through the points A(1, -1) and B(4,5) is

3. A |1 B. |2
C. |-2 D. |3

[sig2Al A(L, -1) vt B(4,5) Hizll w1z adl 2uudl gl 2

3. A |1 B. |2
C. |-2 D. |3
Slope of the line 2x -2y =6 is

4. |A. | -2 B. |6
C. |-1 D. |1
WL 2X - 2y = 6 <l aln 99 ?

¥. |A | -2 B. |6
C. |-1 D. |1
Equation of a circle having centre (1,2) and radius 3 is :

5. [ A | (x+1)? +(y+2)?=3 B. | (x-1)?+(y-2)>=3
C. | (x+1)? +(y+2)’=9 D. | (x-1)2+(y-2)>=9

$e¢ (1,2) 2 Bl 3 dlouadsod, Alszo £,

U | A | (x+1)? +(y+2)? =3 B. | (x-1)2+(y-2)>°=3
C. | (x+1)? +(y+2)’=9 D. | (x-1)?+(y-2)>=9
x-intercept of the line 2x+3y =4 is :

6. |A |-2 B. |3
C. |2 D. |4

Q0L 2x+3y=4H12 X-2ld:vi s Al

< A | -2 B. |3
C. |2 D. |4

5 If two lines 5x+2y-3=0 and kx+2y+7=0 are parallel, if k=

A |2 |B. |-7
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C. |5 |D. |-3
o Yol 5X+2y-3= 0ui kx+2y+7 =0 o7l AHid2 ¢l1 dl k =
3. A |2 B. |-7
C. |5 D. |-3
If midpoint joining two points A(2,1) and B(4,5) is M(3,x) then x =
8. |A |2 B. |3
C. |4 D. |5
[6ig24l A(2,1) 24 B(4,5) « 6713l 31U HeA [0l $14 M(3,X) dlL X =
. A |2 B. |3
C. |4 D. |5
The point IS not on the line x+y =1.
9. [A (01 B. [(34)
C. [ (10 D. | (-3,4)
AlAuml [olg WL X+ Y = 1 4R <4l
«. [A (01 B. |(34)
C. (1,0 D. [(-34)
Equation of a circle having centre (0,0)and radius 3 is
10. A [ 0°+(¥)*=9 B. | (0)°-(¥)*=9
C. | (x+1)*+ (y+2)*=9 D. | (x-1)? +(y-2)* =9
56 (0,0) 2 Bswil 3 adn- uHlse £,
10. | A | (¥)*+(y)*=9 B. | (0°-(¥)°=9
C. | (x+1)* + (y+2)? =9 D. | (x-1)% +(y-2)*> =9
If A(2,-7)and B (8, 3) then midpoint of line segment AB is =
11. [A (52 B. |(-5,-2)
C. | (52 D. | (10,-4)
SLA(2, —7) i B( 8, 3) €ld dl 2u1vi8 AB < A [Bigel 21m = 21,
1. | A | (5,2) B. |(5,2)
C. |(-52) D. |(10,-4)
For circle 2x? +2y? +4x -2 = 0 centre is :
12. [A (12 B. [(10)
C. | (0,1) D. | (-1,0)
AN 2x% +2y% +4X -2 =0 4 3¢ 9.
12, [A. [(1,2) B. [(1,0)
C. |(0,1) D. | (-1,0)
If A(-3,5)and B (2,—4) then slope of AB is
13. |A. | 9/5 B. |-9/5
C. |5/9 D. |-5/9
S A (-3,5) 24 B (2,-4) i Al AB -l 210 21,
3. | A. | 9/5 B. |-9/5
C. |5/9 D. |-5/9
Centre of the circle X2 +y? = 4 is :
14. [A. ](0,0) B. |(0,2)
C. | (2,0) D. | (2,2
440 X2+ y2 =4 4 ¢ 2L,
1. |A. [(0,0) B. |(0,2)
C. | (2,0 D. |(22)
If f(x) = 2 + 3 then f(0) =
15. |A. |5 B. |0
C. |1 D. |2
sl F(X) = 2% + 3* i1 dL f(0) =
u. A |5 B. |0
C. |1 D. |2
16. | Iff(x)=sin2x,thenf(m/6)=
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A | B. |12
C. |32 D. |0
AL f(Xx)=sin2x, ¢ dlf(mn/6)= .
1e. | A. | % B. |1/12
C. |32 D. |0
lim tan @\ _
PN
A ] B. 2
C. |» D. | 2/3
lim tan @\ _
-0 ( 20 ) -
19
A |1 B. 2
C. | D. |2/3
lim x3-27
18 x =3 ( x-=3 ) B
LA |27 B. 9
C. |3 D. |0
lim (x3—27)
x =3 x-3 B
1 TA T27 B. |9
C. |3 D. |0
lim x2=3x+2
19 X -2 ( x—2 ) -
A, |0 B. 1
C. |2 D. |3
lim x2=3x+2
5 X -2 ( x—2 ) -
1 FaTo B. |1
C. |2 D. |3
lim (1+ l)n _
20 n— o n
A |1 B. e
C 1/e D. | None of above
lim 1 _
("=
0. TA 1 B. |e
C. |1 D. | 2uHid 25 i 4l
lim 4*-1 _
x>0 x
2. A Tlog x B. |1
C. | loge4 D. |0
lim 4%¥-1 _
24 x>0 «x
| A. | logx B. |1
C. | loged D. |0
lim x
x = 0 tan5x
22. 'A 5 B. |5
C. |15 D. |0
lim X _
x = (0 tans5x
2 A |5 B. -5
C. |15 D. |0
lim (x2—8x+12) _
23. |x>?2 x2—4 T —
A -4 [B. |4
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C. [-1 |D. |1
lim  x?-8x+12, _
x- 2 ( x2-4 )=

<3 [A |4 B. |4
C. |-1 D. 1
lim tan79\ _

R -

LA |7 B. |1
C. |0 D. |7
lim tan79\ _

-0 ( ) )

< TA 7 B. |1

C. |0 D. |7
_ d*y
Fory = cosx+9, ——

25. A y B —y

C. | cosx D - COSX
_ d?y
Fory =cosx+9, — =

U AL y B -y
C. | cosx D - COSX
d(log(secx))

dx -

26. A. | secx B. | tanx
C. | 1/secx D. | cotx
d(log(secx))

dx B

*e. A. | secx B. tanx
C. | 1/secx D. | cotx
d .. -1 -1
E(sm X+ cos™'x) =

27. |A. |1 B. |0
C. |-1 D. 2

V1 — x?
d o —1 -1
E(sm X+ cos™'x) =

20. A |1 B. |0
C. |-1 D. 2
5 V1—x2
—(2%) =

NP riCR R

LA | 2% B 2x1
C. | 2¥loge2 D. | 2*log.e
d 2x —

2/ dx )=

LA |2 B 2x1
C. | 2*loge2 D. | 2*log.e
d(logx)

29 d’C B

LA | X B. | 1/x
C. | e D. |0
d(logx)

> dx

A T B. | 1/x
C. | ¢ D. |0
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L (3x+ cosx) =

dx
30. |'A. [3x2-cosx 6X + sinx
C. | 6x + cosx 3 -sinx
;—x (3x+ cosx) =
30. | A. | 3x%-cosx 6X + sinx
C. | 6x + cosx 3 -sinx
Fory =sin@, x =cos@ , Z—i =
31. [A. Jcotg tan@
C. | -tan@ -cot®
For y =sin@, x =cos@ , Z—i =
31 | A |cot@ tang
C. |-tang -cotp
d 2
—cos“x =
32, pax _
" | A. | 25InXCcOSX Sin2x
C. | -sin2x sin?x
d 2
—COS™X =
33 dx i i
| A. | 2sInXCOSX sin2x
C. |-sin2x sinx
d -1, —
dx coS iC = .
33, | A
VI—x2 1
C. -1 -1
V1 —x2 x2—1
d -1, —
dx coS X =
A. 1 1
33.
V1 —x2 x2 -1
C. -1 -1
V1 —x2 x2 -1
Ify = xsinx dy/dx=
34. | A. | cosx XCOSX- Sinx
C XCOSX + Sinx XSINX -COSX
1l y = xsinx §lA dl dy/dx =
3%. | A. | cosx XCOSX - SinX
C XCOSX + sinx XSinx - Cosx
d? 2X —
€)=
3. [a T4 4%
C. | 2e¥* 26X
d_z er) —
dx? -
SU. AL | 4 4%
C. | 2e¥* 26X
If xy =1 then L -
dx
36. |A |1 0
C v _ o
X+ y dx O y +X dx
olxy =16l d 2 =
3%. dx
A |1 [0
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C. X+yd_y =0 D. y+Xd—y= 0
dx dx
Equation of the motion of moving particle is given by s =t + 2t+ 51, then velocity at
37 t=1 seconds is units.
1A |5 B. |1
C. |51 D. |3
a[d 5341 YerdAl oA o uHlsars =t° + 2t+ 51 A di,t=1 A5z Ueld <l 9L 23,
33. |A |5 B. |1
C. |51 D. |3
If y =log2 then dy/dx =
38. A |1 B. |0
C. |% D. |x
o4l y =log2 «id dl dy/dx =
3¢. |A |1 B. |0
C. |% D. |x
If y = x*2 then dy/dx =
39. | A | 3Vx/2 B. [-3Vx/2
C. | 3/2\x D. [-3/2Vx
sy = x¥2 ¢4 dl dy/dx =
3¢ [ A ] 3Vx/2 B. [-3Vx/2
C. | 3/2\x D. |-3/2Vx
Ifx2:3xy+9then3—z=
A. | 3x—2y B. |2x+ 3y
40.
3x 3x
C. |2x—3y D. | 2x—3y
3x X
oAl x% = 3xy + 9 ¢lA &LZ—?{’ =
A. | 3x—2y B. |2x+ 3y
#o. 3x 3x
C. |2x—3y D. |2x—3y
3x X
If y = 5™ then & =
dx
4L A et B. [e™cosx
C. | e D. | e®“*cosx
ofly = ™ Gl dl 2 =
LA | e i B. | eS™cosx
C. | e D. | e®“*cosx
If y=cosec?x- cot?x then dy/dx =
42. |A. |1 B. |2
C. |0 D. | None of above
641 y = coSec?x- cot’x A dl dy/dx =
¥ |A |1 B. |2
C. |0 D. | 2uHid 516 uel <l
d
—(3x% +sinx +2) =
43, (dx
" | A. | 3x?—cosx B. | 6X + cosx
C. | 6x?+ cosx D. | 6x- cosx
d
— (3x% +sinx +2) =
%3 dx ,
" | A. | 3x° —cosx B. | 6x + cosx
C. | 6x%+ cosx D. | 6x- cosx
m [ tan? x dx = +C
A. | secxdx | B. | secx tanx
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C. |tanx —x | x- tanx
[tan*x dx = +C
w¥. | A | secxdx secx tanx
C. | tanx —x X- tanx
J.tanxdx =
45,
A. | Log |cosx| + ¢ Log |secx| + ¢
C. | Log |sinx|+c Log |tanx| + ¢
ftanxdx =
.
A. | Log|cosx|+c Log |secx| + ¢
C. | Log |sinx| +c Log |tanx| + ¢
1
f;dx = _
4. A T x2+c
C. | -x?+c Log |x| + ¢
1
f;dx =
5 TA [xT+c X?+c
C. | -x?+¢c Log |x| + ¢
f sin(2x — 7)dx =
47. | A. | -cos(2x-T)+cC -C0S(2x) +C
C. —cos(2x—17 —cos(2x—17
2 7
f sin(2x — 7) dx =
¥o. | A. | -cos(2x-7)+C -c0s(2x) +C
C. | —cos(2x—7 —cos(2x—7
—————g———————2-+ c —————E———————2-+ c
2 7
J sin*x cosx dx =
48. | A. | sin®x 5sin®x
5
C. | 4sinx cos*x sinx
J sin*x cosx dx =
we. | A | sin®x 5sinSx
5
4sin3x cos*x sinx
xe*dx =
49, o Zo¥
(x + 1e* (x —1De*
xe*dx =
1. e* xe*
(x+ 1De* (x —1)e*
(x)
50. f(x)
log |f(x)| + ¢ log |f'(x)| + ¢
log |f(x) + f'()| + ¢ n[fO]™ +c
(X)
Yyo.

f (x)
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A. |log|f(x)|+c B. |log|f'(x)|+c
C. |log|f(x)+ f'(x)|+c D. | n[f(x)]"! +c
fcot(Z)d(D =
51. ;
A. | log|tan®| B. | log|sin@|
C. | log|secd| D. | log|cos®|
fcot@d@ =
uA. -
A. | log|tan®| B. | log|sin@|
C. | log|seco| D. | log|cos@|
fx +7 dx =
52. | A. | Log(x+7) +c B. |Log(7x) +c
C. 7 N D. 1 N
log(x +7) ' * log(x +7) ' *
fx +7 dx =
uz. | A | Log(x+7) +c B. | Log(7x) +c
C. 7 4 D. 1 N
log(x +7) ' © log(x +7) ' *
1
f 4x3dx =
53. 0
A |0 B. |1
C. |2 D. |3
1
f 4x3dx =
u3. 0
A |0 B. |1
C. |2 D. |3
J(3x2—3)dx= +c
54. .
A. | 6X B. | 3x°-X
C. | x3-3x D. |3x3-3x
f(3x2—3)dx= +c
WA Tex B. |3x3-x
C. | x*-3x D. |3x3-3x
f(sinzx + cos?x) dx = +c
55. A |0 B. |1
C. | sin2x D. | X
f(sinzx + cos?x) dx = +c
WA To B. |1
C. | sin2x D. |x
Area of region bounded by curve y=x, x—axis and x=1, x=2 is = unit .
56. |A. | Y% B. |3/2
C. |3 D. |1
A5 y=x, x— 28 x=1 vl x=2 4 AL U] B0 20,
s, |A. | % B. |3/2
C. |3 D. |1
If y = xe* then Z—i’ =
S7. A TeX(x+1) B. [ x(eX+1)
C. | e (x-1) D. | x(e*-1)
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If y = xe*then -
dx

9. | A | eX(x+1) B. | x(e*+1)
C. | e (x-1) D. | x(e*-1)
J, sinxdx =
8. A |2 B. |-2
C. |0 D. |1
fonsinxdx =
us., A |2 B. -2
C. |0 D. |1
If mean of observations 4, 7, 6, a, 5, 9 is 6 then value of a is
5. |A. |6 B. 4
C. |5 D. |2
wAdlsdl4,7,6, a, 5,9l HAS A6 Gl dla= .
ue. |A. |6 B. |4
C. |5 D. |2
If the mode of observations 2, 3, 3, 2,5, 3, 7, 8, 2, ¢,7 is 3 then value of c is
60. |A. |2 B. |7
C. |3 D. |8
294512, 3,3,2,5,3,7,8,2,¢,7 <l olgds 671 3 $lA dlc=
co. |A. |2 B. 7
C. |3 D. |8
Mean of first five prime numbers is .
61. |A. |55 B. |5
C. |57 D. |56
UAH Y, WA, A 2AlAl HEAs 69
<4. |A. |55 B. |5
C. |57 D. |56
For information data 8, 3, 5, 12, 9, 14, 17, 1, 7 median of information is ___.
62. |A. |9 B. |8
C. |85 D. | None of above
ofl HUlEdldl 219151 8, 3, 5, 12, 9, 14, 17, 1, 7 GlA AL HE42_ .
<2, |A. |9 B. |8
C. |85 D. | 2uHid 516 uel Al
For information mean is 1.43 and median is 1.32 then mode is
63. |A. |11 B. 1.5
C. |12 D. |09
oyl HU[SAlAL HEUS 1.43 2id W92 1.32 QAL dL olsds_
3. |A. |11 B. 1.5
C. |12 D. |09
The mean deviation from the median for the observations 1,6,9,3,8,4 is
64. |A. |25 B. |30
C. |35 D. |28
219451 1,6,9,3,8,4 4 Wzl UR1al [AAa4 2
<¥. |A. |25 B. |30
C. |35 D. |28
For the data 12, 10, 15, 22, 30, 20, 32, 12, 20, 30 median is
65. |A. |25 B. |30
C. |20 D. |22
UGl 24954l 12, 10, 15, 22, 30, 20, 32, 12, 20, 30 SiA Al HeA2Y, 243l
su. | A |25 B. |30
C. |20 D. |22
66 Mean of first five even numbers is .
" |A |6 |B. |10
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C. |15 |D. |30

UAY Ui o15] dvALvAAL WA s 2
<e. |A. |6 B. |10

C. |15 D. |30

For information 5, 7, 10, 13, 12, 6, 17 mean deviation from mean is
67. |A. |4 B. |34

C. |3 D. | None of these

oA\ HU[GAlAL W15 5, 7, 10, 13, 12, 6, 17 Sl dL H=As2dl W29 (add
9. |A. |4 B. |34

C. |3 D. | 2umidl 516 ue 4l

The range of the data 17, 15, 25, 34, 32 is :
68. | A. |18 B. |19

C. |34 D. |17

945l 17, 15, 25, 34, 32 <l [42dI2 21,
<<. |A. |18 B. |19

C. |34 D. |17

If givendatais 8,7,4,5,6,9, 7,3, 8and 7 then Mode is
69. |A. | 5 B. |7

C. |8 D. |9

219415418, 7,4,5,6,9,7,3, 847 Al olgds___ 9.
ez, | A 5 B. |7

C. |8 D. |9

To find the standard deviation of ungrouped data first we have to find first
70. | A. | Median B. | Mean

C. | Mode D. | None of these

219{[5d HUlSAlAL UHIBLA (A2 9HAL HIZ UAH 2400 Hagd ue,
0. | A | Heyzy B. | ey

C. | ogas D. | 2umial 51 i 4l
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